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Regarding the second Bee’oh, no one argues that it is forbidden

Overview

The *1X7 X2°X maintains that the argument between X721 21 whether a 175 is M7
XN N9 1s only regarding the 711WXRA 7R3, however regarding the 771w 7X°2 both
agree that it is MOX. Our Moo explains the difference between n"9> and N1v15 AMOWY.

mooIn anticipates a difficulty:
= WYY NMHYNY NN 122 10910 KD NNOY 2327 23 HY 9N)

And even though that regarding the 7n°77 of a ¥"V 172 to a nN°1v1d> AMew, 17 does

not distinguish between the first 71%°2 and the second nx2 -
- 19595 YN AMNN RNT XYY N9IY NN N7

For, according to 17, even the second %2 to a N°1v1d AndW is permitted for the

172, since »Rww was refuted previously in our X»3, so why does 27 prohibit a 1w X2
for a 179 by a “R1N ND*?

mooIn responds:
- 3]11: 323 23 9N HNIY? *3) Z\D"l‘p 91 XY M0IN AMNY WITN MHNT RNYV 139N 0NN

There by >"w the reason why she is continually 375% namn is because the
permission to marry a 2" is a novelty, so when the 770 removed the
prohibition of w7p 757 X® regarding an Y'Y who is a "N7wd, it was also

permitted regarding an ¥"V who is a 172 -
- A% DYV NNONX 119 2339 SYITN IND PR XY 233 *NYIW 997 XN YaN

' MooIn needs to prove that according to 27 a ¥"¥ 172 is 2"wa 9Mn even 7w Ax*2a (for 27 did not explicitly say so).
The proof is from the fact that YRmw (who maintains that a ¥"v 175 is >"w32 T10K) was refuted. For according to 7Rmw
why do the 7121 say (in a previous Xn»932) that an 372 ¥"V is not ¥¥1 because he becomes a 01 Hv3, they should
simply say because the 1712 ¥"V cannot say, *nW& NX *n2ax (the 5"¥), since he cannot have one. If 27 only permits 182
anwRA for a 175 ¥y, the same question is on 27, how can he say *nwX nX °naaxR! This proves that according to 27, the
112 "V is permitted to be with the 2" as long as he is an ¥"V.

% 1,30 (X3n) ©127. This is a prohibition for a Y872 to marry a n1v13 7now. See “Thinking it over’ # 1.

? There is a W71 by a 2"W (even by a »Xw°) even by the 7w X2 (for the W of wTp 7 X2 applies continually),
and nevertheless she is 78w ¥"¥% n1nn, so therefore she is 1775 ¥"¥% N1 even though there is an additional MoR
717, by a 179, nevertheless we say that since we can remove an 710X by a PXW° we can also remove the 2°110°K by a
0.

* Regarding the 7nwxa %02 of a n"9, since it is a WITR even by a X, it therefore applies to a 172 as well.
Whatever is permitted for a 2X72” (through a w17°r such as 3"w or n"9°) is permitted for a 175 as well according to 2.
> See “Thinking it over’ # 2.

® The 710 writes (in 7,80 [1IMKR] Xp*Y) that Wp> R? 799m 237 AWK, a 179 is forbidden to marry a 7337, A n°9331 or a N
is considered a 7117
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However here by a "X no> when she is permitted to a »X=w> for the 771w 78°2,
there is no w71 (since now she is a N71°3), but regarding a 3772 she is forbidden
for 71w X2, because she is a 717 -

Moo responds to an anticipated difficulty:
= 1999) N9 2NN INYY NI HYA NIMINNY 29 JY 4N)

And even though the n"9* is converting against her will (how can that be
considered a conversion), nevertheless the ‘verse’ make her as a complete

convert and therefore as a n71°3 she is X% nnn (without a vI7°n) -
£V 1981 XYY 192 9339 NYIDIN NIIN ININ)

However, there still remains the prohibition of a convert regarding a 375, and
we do not find that the 770 permitted transgressing this Mo°X of 7.

Summary
When an M0°X is removed by a PR it is removed by a 112 as well (by 2"w)

(together with 111772 >M0°KR), however when by a PR W there is no MOX, the TO°KR
71172 remains (by n"9?).

Thinking it over
1. According to Mo, why was it necessary for the X723 to explain the reason why

27 1s AWK AX°22 7 (for a N9 30) because 1"AXY TA1D XPX 770 79727 XY, the
% n3 should have merely said as MooIN says;” X% MO AW WITH T RAVY 1170
179 233 11 T DR 2 wp

2. mooIn writes that there is no w171 by a X (regarding the 771w 17X°2); because
she is a nva.” However mooin writes that it’s a 2"y2 M) and it is surely a w170
that 77123 NP3 2577 ARWY, so if it is a w17°n by a P& it should be 173% 20 as
well (even to remove the 71177 ‘ﬂD’N)!lO

7 See (text by) footnote # 2.

¥ See opn NIk AT N M.

? See footnote # 5.

10 See mwn nbm1 and Xopn MK 7T NS N2,
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